Ann Velenchik

Class Notes

Textiles and the Multifibre Arrangement

1.  Why is there a separate international agreement on trade in textiles?  That is, what is so special about textiles that this industry requires separate agreements?  We don't have international agreements, on other goods (computers, cars, etc), so why on textiles?

a.  Textiles are the single largest source of manuf. employment

   worldwide (Page 1 first paragraph)

b.  Textiles are an important component of the industrialization

   process, both historically in the DC's and currently in the

   LDC's. (Page 1 first paragraph)

c.  There is a shifting world pattern of comparative advantage

     (Page 2 first paragraph)

d.  Textile and apparel workers in the DC's are vulnerable

Some students may mention the primacy of the US in setting up these arrangements.

2.  In the absence of the MFA, what would be the pattern of production and trade in textiles and apparel?  On what information are you basing this assessment?

a.  Would be produced in LDC's

b.  Would be trade among the rich countries -- in high quality

   products.  There's pretty much free trade there now.

b.  Exhibit 4 indicates that labor costs in this industry

   are much higher in the DC's (Europe, US, Japan), than

   in the LDC's.  The ratio of US to Sri Lankan wages is 50:1.

c.  Exhibit 5 indicates that shirts made in the U.S. cost

   25% more, including the tariff, than do shirts made in

   Thailand.  If we didn't have the 21% tariff, the cost

   difference would be much larger

d.  Exhibit 3 indicates that the textile industries in the

   EC and Japan have been shrinking over the period from

   1973 to the end of the 1970's.

e.  Exhibit 7 shows that the DC's, in general (Italy is an

   exception), showed a growth in overall trade deficits

   in textiles and clothing between 1973 and 1980, even

   though the MFA imposed restrictions on imports.  Had

   there been freer trade, it seems logical to assume that

   this deficit would be larger.

3.  WHY do the LDC's seem to have a "comparative advantage" in the production of tariffs and textiles?  That is, what characteristics do these countries and these goods have, and what ideas from economics can we use, to explain this pattern of relative costs?

a.  Labor abundance leads to low wages

b.  Labor intensity

c.  Heckscher-Ohlin theorem

4.  Exhibit 5 also shows that Thailand uses almost twice as much labor to produce a dozen shirts than the U.S. does. Doesn't that mean that the U.S. should have the "comparative advantage" in the production of textiles?  Why not?

a.  No.  The U.S. is simply using more capital.  Since the

total cost of the shirt is lower in Thailand, it seems that

the U.S. is still a higher cost producer.

b.  This does not mean that overall apparel production isn't

labor intensive, since this is a relative term, and as long

as apparel is more labor intensive than other industries in the

U.S., the notion of labor intensity still holds.

5.  Given these facts, it is clear that the MFA produces a pattern of production and trade that differs from what would obtain under free trade.  According to the case, what is the purpose of the MFA?  Was this purpose achieved?  Is this purpose achievable?

a.  "...to provide developing countries with guaranteed and growing access to markets of developed countries while allowing governments of developed countries to preven the "disruption" of their domestic industries." (Page 1 second paragraph)

b.  Clearly, it has not been achieved, since it was not temporary, market access by LDCs is not growing, and DC industries were disrupted.

c.  It seems like the two goals are contradictory.  Hope that participants pick up on this in some way.

6.  Whose interests does the MFA serve?  Who does the MFA harm?

a.  U.S.:  Producers (owners) clearly gained.  Production is up

    Workers have gained to a lesser extent (job loss).

    Consumers have been hurt

    Banks with loans to LDC's have been hurt

b.  LDCs:  Taiwan, Hong Kong and Korea may have gained by

    moving into the synthetic market and higher value

    added products.  See Exhibit 7 and Exhibit 9.

    Poorer LDCs have been hurt, since their market

    access has been most restricted

c.  EEC:   Italy is doing well?  Why?

    Germany has been able to adjust

    Belgium, France and UK have experienced "disruptions"

    to their industries.  See Exhibit 7.


7.  What is the general negotiating position of each group of countries?  what are the internal problems each one has:

a.  U.S.:
Internal tension.  Labor & Commerce departments and Congress want more protectionism.  These are vulnerable workers in depressed areas.  The President and treasury favor free trade, and have taken a public stance in favor of free trade on the world scene.  This is an important domestic conflict.

b.  EEC:
Some (Germany, Holland, Denmark) want freer trade.

Others (Britain, Belgium, France) want protection.

Overall have agreed to a protectionist position.

Authored the reasonable departures clause, which

allows more protectionism.  Don't protect against

US goods, where the labor costs are more similar.

Want a new agreement with more restrictions.

d. LDCs:
Their common position is that the MFA has not done what it said it would do.  Not more liberal.  Discriminatory.  Restrains their growth.  There are some differences, though.  HK, Taiwan, Korea, Singapore want feer trade, since they are highly competitive.  India doesn't -- needs the preferences it has to compete with really low wagers like Sri Lanka.

8.  If you were trying to use a diagrammatical analysis to indicate the effects of this protection on the U.S. economy, what would it look like?

9.  Given the above discussion of winners and losers, and taking into account the strategic nature of trade policy issues, that is the fact that the U.S. will not be making policy in a vacuum but must consider what other people will do, what should President Reagan's textile policy be for the 1980's?  Ask each respondent to follow up by supporting their choices and outlining the political and economic consequences of their suggestion.  They should also be pushed to evaluate the feasibility of this proposal, and to be clear about whose interests this proposal places at the top of the list.

a.  Free trade in textiles and apparel.  How would they deal

with the unemployment?  What would the European response be?

Given this suggestion, whose interests are they considering to be most important?

b.  Side with the Europeans for a more restrictive MFA.  Is this consistent with Reagan's free trade views?  Whose interests would this policy choice rank as most important.

c.  Free trade, but industrial policy in textiles to provide retraining programs etcetera to the domestic U.S. industry.

d.  Search for a middle ground, perhaps an MFA with built in and legislated phase out dates.

10.  Concluding question.  What are the implications of this case for other forms of trade policy?  Are there lessons you can draw from this for improving your understanding of other areas of trade policy?

SO, WHAT ACTUALLY HAPPENED?

"First, Reagan stuck to his free trade position through the fall of 1981.  He insisted that the MFA be liberalized.  By late November, the negotiations were still stalemated, and it appeared that the MFA might indeed fall apart.  In early December, however, Southern Bollweevils headed by Strom Thurmond (D, SC) and Carrol Campbell (R, SC), told Reagan that he would not get a foreign aid bill unless he changed his position on the MFA.  Reagan, deciding that the foreign aid bill was more important, directed his negotiators to reverse their positions and support the EEC position.  by the end of December, the most restrictive textile arrangement in the postwar period had been signed.  It included a clause which allows importing nations to link the growth of imports to the growth of consumption in their domestic markets;  it eliminated flexibility clauses, which would effectively reduce exports from many countries; and it allowed the major importer to cut the "Big 3's" quotas in favor of higher quotas for newcomers, like Sri Lanka.

One result of the new MFA was that the EEC did cut the quotas for countries such as Hong Kong and Macao, but it did not give the newcomers such as Sri Lanka higher quotas.  The US also reduced the growth and severely limited the flexibility of the Big 3; and it implemented something called a "rule of origin" which would make it more difficult for some of the big exporters to circumvent their bilateral agreements.  Major change -- China, big and powerful.

